3/16/2020 9:31 AM

s:\projects\plyco corp\tdi-19-1128 - tdi submittal - series 20ev and 95ev glzd and opq doors\dwgs\pco037\pco037.dwg

INSTALLATION NOTES:

1.

10.

11.

12.

ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN UNLESS OTHERWISE NOTED.

THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE
MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT
INSTALLATION.

INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A
TOLERANCE OF +1/2 INCH OF THE DEPICTED LOCATION IN THE
ANCHOR LAYOUT DETAIL (I.E., WITHOUT CONSIDERATION OF
TOLERANCES). TOLERANCES ARE NOT CUMULATIVE FROM ONE
INSTALLATION ANCHOR TO THE NEXT.

SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD
BEARING SHIM(S). MAXIMUM ALLOWABLE SHIM STACK TO BE
1/4 INCH. SHIM WHERE SPACE OF 1/16 INCH OR GREATER
OCCURS. SHIM(S) SHALL BE CONSTRUCTED OF HIGH DENSITY
PLASTIC OR BETTER.

FOR INSTALLATION INTO WOOD FRAMING USE #10 WOOD
SCREWS OF SUFFICIENT LENGTH TO ACHIEVE 1 1/2 INCH
MINIMUM EMBEDMENT INTO WOOD SUBSTRATE.

FOR INSTALLATION THROUGH 1X BUCK TO CONCRETE/MASONRY,
OR DIRECTLY INTO CONCRETE/MASONRY, USE 3/16 INCH
DIAMETER ITW TAPCONS OF SUFFICIENT LENGTH TO ACHIEVE
11/4 INCH MINIMUM EMBEDMENT.

FOR INSTALLATION INTO STEEL STUD FRAME USE #10
SLEF-DRILLING OR SELF-TAPPING SCREWS OF SUFFICIENT
LENGTH TO ACHIEVE A MINIMUM 3 THREADS PENETRATION
BEYOND STEEL STRUCTURE.

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL
FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM,
BRICK VENEER, AND SIDING.

INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE
MADE OF CORROSION RESISTANT MATERIAL OR HAVE A
CORROSION RESISTANT COATING.

FOR HOLLOW BLOCK AND GROUT FILLED BLOCK, DO NOT INSTALL
INSTALLATION ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE
IS MEASURED FROM FREE EDGE OF BLOCK OR EDGE OF MORTAR

JOINT INTO FACE SHELL OF BLOCK.

INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE
WITH ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS,
AND ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH
STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BY
THE ANCHOR MANUFACTURER.

INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE

BASED ON SUBSTRATE MATERIALS WITH THE FOLLOWING

PROPERTIES:

A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.42.

B. CONCRETE -MINIMUM COMPRESSIVE STRENGTH OF 3000 PSI.

C. MASONRY - STRENGTH CONFORMANCE TO ASTM C-90.

D. STEEL - MINIMUM YIELD STRENGTH OF 33 KSI. MINIMUM
WALL THICKNESS OF 48 MILS (18 GAUGE).

GENERAL NOTES:

1.

. ADEQUACY OF THE EXISTING STRUCTURAL

PLYCO CORPORATION

SERIES 95EV FLUSH STEEL OUTSWING DOOR
(NON-IMPACT)

TABLE OF CONTENTS

THE PRODUCT SHOWN HEREIN IS DESIGNED AND
MANUFACTURED TO COMPLY WITH THE 2018 SHEET
INTERNATIONAL BUILDING CODE (IBC) AND 2018
INTERNATIONAL RESIDENTIAL CODE (IRC) AND HAS BEEN
EVALUATED ACCORDING TO THE FOLLOWING:

e AAMA/WDMA/CSA 101/1.5.2/A440-17

SHEET DESCRIPTION

INSTALLATION & GENERAL NOTES

ELEVATION & ANCHOR LAYOUT

VERTICAL SECTIONS

CONCRETE/MASONRY AND 2X FRAMING AS A MAIN WIND HORIZONTAL SECTIONS

FORCE RESISTING SYSTEM CAPABLE OF WITHSTANDING AND
TRANSFERRING APPLIED PRODUCT LOADS TO THE
FOUNDATION IS THE RESPONSIBILITY OF THE ENGINEER OR
ARCHITECT OF RECORD FOR THE PROJECT OF INSTALLATION.

bl w|IN]|PF

COMPONENTS & BILL OF MATERIALS

1X AND 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND
ANCHORED TO PROPERLY TRANSFER ALL LOADS TO THE
STRUCTURE. BUCK DESIGN AND INSTALLATION IS THE
RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF RECORD

FOR THE PROJECT OF INSTALLATION. DESIGN PRESSURE RATING

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC LOCK TYPE DESIGN PRESSURE - ALL SIZES MISSILE IMPACT RATING

AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC

SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE

FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED SINGLE

ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC DOINT +50.0/-50.0 PSF * | W/O WATER INFILTRATION NON-IMPACT

DOCUMENTS FOR USE WITH THIS DOCUMENT.

APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED ON

THIS PRODUCT IN AREAS REQUIRING IMPACT RESISTANCE. SINGLE

POINT W/ +75.0/-75.0PSF * | W/O WATER INFILTRATION NON-IMPACT

. FRAME MATERIAL: ALUMINUM 6063-T5 & CS-B STEEL DEAD BOLT
. DISSIMILAR METALS INCLUDING FASTENERS THAT MAY COME

INTO CONTACT WITH ALUMINUM UNIT FRAMING SHALL BE *UNIT SHALL BE INSTALLED AT LOCATION PROTECTED BY OVERHANG SUCH

PROTECTED. THE OVERHANG RATIO (OH) = OH LENGTH/OH HEIGHT GREATER THAN 1.0

WHERE WATER INFILTRATION IS REQUIRED.
ALL EXPOSED STEEL COMPONENTS ARE GALVANIZED AND
SHOP PRIMED.

PLYCO

PLYCO CORPORATION
P.0. BOX 386
500 INDUSTRIAL RD.
ELKHART LAKE, WI 53020
PH: (920) 876-3611 FAX: (920) 876-3527
U o
= Za c
< Ty g
— v 9o ]
s agEent
= 025353
= 29T
Lz B9 Kzzdis
50 zkE 32533
52 o O O agn 5@,;
o—- EZ Z <2 xE
o < = —Z2z=za gz
SO0 4d< 03 "4
Yo - — w
n A <Lw = 2
== Do
<)) )
O 2 L .- M0 ®
iz =0 |z
g o
w
n w
mS ﬂé
5 O e
= I~a
[ a
REMARKS BY | DATE

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIQ
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]}
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

Digitally signed by Hermes F Norero
Reason: | am approving this document
pate: 2020.07.15 07:35:52 -04'00'

HERMES F. NORERO, P.E.
TEXAS P.E. No 118471
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338

DANIA BEACH, FL 33004

TBPE FIRM No. 13734

pate:  02.13.20

DWG. BY: CHK. BY:
MS HFN

SCALE: NTS

owe. . PCO037

SHEET:

1

OF5)




3/16/2020 9:31 AM

s:\projects\plyco corp\tdi-19-1128 - tdi submittal - series 20ev and 95ev glzd and opq doors\dwgs\pco037\pco037.dwg

85.50" DOOR
FRAME HEIGHT

_ 38.00"DOOR _
FRAME WIDTH
_j 3575"DOOR ||
DEADBOLT 53" ABOVE PANEL WIDTH
LOCK (OPTIONAZL, SEE DP (A
TABLE SHEET 1)‘\ \3/
- I _
(FY D N
A Y,
E \30.00"
\o X" ‘ 2/
O\ I B
83.125" DOOR LOCK SET
PANEL HEIGHT
47.09" 30.00"
41.59"
- | 1
10.75"
( AV AD
\3/
ELEVATION

J—x Iﬁ

NOTE:

FOR WOOD & STEEL SUBSTRATES: MINIMUM
OF SEVEN (7) TOTAL ANCHORS REQUIRED PER
JAMB. NO ANCHORS AT HEAD OR SILL.

FOR CONCRETE/MASONRY SUBSTRATES:

MINIMUM OF SIX (6) TOTAL ANCHORS
REQUIRED AT LOCK JAMB & SEVEN (7)
ANCHORS AT HINGE JAMB. NO ANCHORS AT
HEAD OR SILL.

WHEN DEAD BOLT IS USED TWO (2)
ADDITIONAL ANCHORS ARE REQUIRED AT

DEAD BOLT STRIKE PLATE.

SEE SHEET 4 FOR SPECIFIC ANCHOR LOCATIONS.

PLYCO

*FOR MASONRY/CONCRETE
INSTALLATIONS USE ONLY TWO
(2) ANCHORS THROUGH STRIKE
PLATE

15.50" MAX.
O.C.TYP
¢ i
o ™
0 A
THREE (3) ANCHORS
AT STRIKE*
+ -
>< ﬁ
ANCHOR LAYOUT
LEGEND:

X ANCHOR THROUGH INNER FRAME

& ANCHOR THROUGH STRIKE PLATE
(WHERE APPLICABLE)

+ ANCHOR THROUGH OUTER FRAME

A ANCHOR THROUGH HINGE

PLYCO CORPORATION
P.0. BOX 386
500 INDUSTRIAL RD.
ELKHART LAKE, WI 53020
PH: (920) 876-3611 FAX: (920) 876-3527
(S
= pa c
b gy g
oo L 8eni
w = o Son g TS
== adg®
wn = (o N
=2 o) T o3
Fo %o 022533
Lz =z= Oa8323
o= oS Z I x%3
w o = =zzZI<s
= <5 ez
>o < D [aRray e
wo >Q i w
n A T = =
) —Q 29
n O w = R aa)
w2 < E
== o
w
N w
5 O e
= I~
[l a
REMARKS BY | DATE

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]}
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

W SSIONAL B
AR
HERMES F. NORERO, P.E.
TEXAS P.E. No 118471
BUILDING DROPS, INC
398 E. DANIA BEACH BLVD. # 338
DANIA BEACH, FL 33004
TBPE FIRM No. 13734

pate: 02.13.20

DWG. BY: CHK. BY:
MS HFN

SCALE: NTS

owe. #. PCO037

SHEET:

2

OFSJ




3/16/2020 9:31 AM

s:\projects\plyco corp\tdi-19-1128 - tdi submittal - series 20ev and 95ev glzd and opq doors\dwgs\pco037\pco037.dwg

CONCRETE/ MASONRY

BY OTHERS

CAULK BETWEEN
CONCRETE/ MASONRY & 2X
WOOD BUCK BY OTHERS

2X WOOD BUCK

BY OTHERS

EXTERIOR FINISH
BY OTHERS

PERIMETER CAULK
BY OTHERS

O.A. UNIT
HEIGHT

EXTERIOR

INTERIOR

B\ VERTICAL SECTION

\3/

HEAD - 2X WOOD BUCK

EXTERIOR

O.A. UNIT
HEIGHT

INTERIOR

PERIMETER CAULK
BY OTHERS

CONCRETE/MASONRY
BY OTHERS

4. @

<a .

ERTICA

(AN

L SECTION

3/

SILL - CONCRETE/MASONRY

2X WOOD FRAME

SHEATHING BY OTHERS
BY OTHERS
EXTERIOR FINISH
BY OTHERS
1/4" MAX. _ 1/4" MAX.
SHIM SPACE PERIMETER CAULK SHIM SPACE

BY OTHERS

O.A. UNIT
HEIGHT
NOTE:
* COMPONENTS ARE OPTIONAL.
EXTERIOR INTERIOR
/C\ VERTICAL SECTION
\3/ HEAD - 2X WOOD FRAME
EXTERIOR INTERIOR
O.A. UNIT
HEIGHT

PERIMETER CAULK

BY OTHERS N AT
< .a .4 4
CONCRETE/MASONRY T '
BY OTHERS '

/ATy VERTICAL SECTION
\3/ SILL - ADA THRESHOLD (OPTIONAL)

PLYCO

PLYCO CORPORATION

P.0. BOX 386
500 INDUSTRIAL RD.
ELKHART LAKE, W1 53020
PH: (920) 876-3611 FAX: (920) 876-3527

U.%

5 = £
o< Ahy %
wa aSR]RR S
&2 (%) Oz23:%
w2 P4 o TEa 3 s

Z o AoGtax2
o = I2TTS
n = w3 wa
22 O Oz2a22%
Txe o £::2f3¢
= 0O - Asg &
w O < — w
nQo O = x =
) = 29
n O o o
Wz W @

52 8
5 O e
= I~
= a
REMARKS BY | DATE

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]}
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

\\\\I\O\Qii—‘,.

HERMES F. NORERO, P.E.
TEXAS P.E. No 118471
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338

DANIA BEACH, FL 33004

TBPE FIRM No. 13734

pate: 02.13.20

DWG. BY: CHK. BY:
MS HFN

SCALE: NTS

owe. #. PCO037

SHEET:

3

OFSJ




3/16/2020 9:31 AM

s:\projects\plyco corp\tdi-19-1128 - tdi submittal - series 20ev and 95ev glzd and opq doors\dwgs\pco037\pco037.dwg

CAULK BETWEEN

CONCRETE/ MASONRY & 2X ;
— ~—— 1-1/2" MIN. EMBEDMENT
WOOD BUCK BY OTHERS 1/4" MAX MIN. THREE THREADS
#10 WOOD SCREW SHIM SPACE E$E§E§¢gb%r¥3§gom #10 SLEF-DRILLING OR
INSTALLATION ANCHOR SELF-TAPPING SCREW
(SEE NOTE 3) 1/4" MAX. INSTALLATION ANCHOR
#10 WOOD SCREW SHIM SPACE (SEE NOTE 3)
INSTALLATION ANCHOR 3/4" MIN. INTERIOR INTERIOR 3/4" MIN.
(SEE NOTE 2) EDGE DISTANCE — [ EDGE DISTANCE
#10 WOOD SCREW n
INSTALLATION ANCHOR
(SEE NOTE 1) f
N #10-16 TEK SCREW
CONCRETE/ MASONRY | INSTALLATION ANCHOR
BY OTHERS — agededeseses (SEE NOTE 4)
962622702, LI~ MIN.18 GA. STEELSTUD
NE==——==—_= BYOTHERS
2X WOOD BUCK SHEATHING
BY OTHERS BY OTHERS
EXTERIOR FINISH
EXTERé(?F({)_I;II_I:Iéig EXTERIOR EXTERIOR BY OTHERS
E— PERIMETER CAULK
PERIMETER CAULK O.A. O.A. BY OTHERS
BY OTHERS UNIT UNIT
WIDTH WIDTH
W JAMB - 2X WOOD BUCK, TYP. W JAMB - STEEL STUD, TYP.
11/4" MIN.
1-1/2" MIN. EMBEDMENT ~ —=] ~— . — EM/BEDMENT
1/4" MAX. 1/4" MAX.
SHIM SPACE ANCHOR NOTES: SHIM SPACE * 1X WOOD BUCK
. . BY OTHERS (OPTIONAL)
#10 WOOD SCREW
INSTALLATION ANCHOR ' NOTE 1: AF'\F‘{‘/iI"\'/IOER THROUGH INNER T
(SEE NOTE 3)\ 3/4" MIN. NOTE 2: ANCHOR THROUGH STRIKE | INTERIOR R 21/2" MIN.
#10 WOOD SCREW EDGE DISTANCE PLATE (WHERE - AN EDGE DISTANCE
INSTALLATION ANCHOR a INTERIOR APPLICABLE) Ll
(SEE NOTE 2) NOTE 3: ANCHOR THROUGH OUTER g ?
10 FRAME e
#10 WOOD SCREW NOTE 4: ANCHOR THROUGH HINGE S 3/16" ITW TAPCON
INSTALLATION ANCHOR—~__ . INSTALLATION ANCHOR
(SEENOTE 1) g (SEE NOTE 3)
oy 3/16" ITW TAPCON
2X WOOD FRAME__~| l INSTALLATION ANCHOR
BY OTHERS (SEE NOTE 4)
SHEATHING geggﬁ';';/ MASONRY
BY OTHERS
CAULK BETWEEN
EXTERIOR FINISH EXTERIOR EXTERIOR  NEEEN CONCRETE/ MASONRY & 1X
BY OTHERS — — WOOD BUCK BY OTHERS
EXTERIOR FINISH
PERIMETER CAULK O.A. O.A. BY OTHERS
BY OTHERS unit uNIt PERIMETER CAULK
WIDTH WIDTH ithiol

JAMB - 2X WOOD FRAME, TYP.

JAMB - MASONRY/CONCRETE, TYP.

PLYCO

PLYCO CORPORATION
P.0. BOX 386
500 INDUSTRIAL RD.
ELKHART LAKE, W1 53020
PH: (920) 876-3611 FAX: (920) 876-3527
(S
= pa c
b gy g
RS A-FE
w = =2 0Oz27% 35
== o R g )
wn L = (o N
z F T3S
IO Q D39353
(%] w W o
22 »n Oz2a22%
T 2 Z:22£%%
o g 033 g
> - [a3ya) o
wo = = g
oo e 58
(U] N o "
wn
w2 o >
—_ = o [a'a]
22 T |s
cn5 g
5 O a
w
= I~
[l a
REMARKS BY | DATE

[THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]}
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

\\\\I\O\Qii—‘,.

HERMES F. NORERO, P.E.
TEXAS P.E. No 118471
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338

DANIA BEACH, FL 33004

TBPE FIRM No. 13734

pate:  (02.13.20

DWG. BY: CHK. BY:
MS HFN

SCALE: NTS

owe. #. PCO037

SHEET:

4

OFSJ




r

s:\projects\plyco corp\tdi-19-1128 - tdi submittal - series 20ev and 95ev glzd and opg doors\dwis\pc0037\pc0037.dwg

-~

STRIKE PLATE
18 GA. STEEL

@)

1.672" ﬁk——+{ii

FRAME HEAD (OPTIONAL)
ALUMINUM 6063-T5

[

1.625" %

—f_

0.050"

T

3.500" —=

0.085"

DOOR CAP
PVC

()

4" BUTT HINGE
STEEL

(&=

+ ¥

NOTE: ALL EXPOSED STEEL COMPONENTS ARE GALVANIZED AND SHOP PRIMED.

O,

WEATHER SEAL
PVC

¥

DOOR SWEEP
PVC-ALCRYN

ADA SILL (OPTIONAL)

@ ALUMINUM 6063-T5
—— 3.500" ——‘

0500" =g 1 o=
—=|~— 0.070"

BILL OF MATERIALS
\ ITEM NO. DESCRIPTION PARTS NUMBERS | MATERIAL MANUFACTURER @ ;'EGMIENSL'JL“LA £063.T5
" 1 FRAME SILL 1647 6063-T5 MODERN DOOR
2 FRAME HEAD 1554 6063-T5 MODERN DOOR o 35007 —of
3 FRAME JAMB 1539 STEEL MODERN DOOR OJMH p——
4 HEAD & SILL RAIL 1838-1A 6063-T5 MODERN DOOR T oo
5 STRIKE RAIL 1839 6063-T5 MODERN DOOR
6 HINGE RAIL 1840-B 6063-T5 MODERN DOOR
7 STRIKE PLATE STEEL MODERN DOOR @ 52%“,1?;?@35
8 4" BUTT HINGE STEEL MODERN DOOR )
9 DOOR SWEEP PVC-ALCRYN MODERN DOOR I
10 WEATHER STRIPPING FOAM/Q-LON SCHLAGE L625 NI
11 DOOR SKIN 0.015" STEEL MODERN DOOR ?—= e T
12 PANEL CORE POLYURETHANE| MODERN DOOR
13 STOP PART (OPTIONAL) 6063-T5 MODERN DOOR @ STRIKE RAIL
14 FRAME HEAD (OPTIONAL) 1880 6063-T5 MODERN DOOR ALUMINUM 6063-T5
15 DOOR CAP PVC MODERN DOOR
16 WEATHER SEAL 9650 PVC MODERN DOOR —t 1672
17 ADA SILL (OPTIONAL) 1572 6063-T5 MODERN DOOR 0.375™
18 DOOR SWEEP 1852 PVC-ALCRYN MODERN DOOR = oos"
19 PANEL SEAL 1929 6063-T5 MODERN DOOR

WEATHER STRIPPING
FOAM FILLED Q-LON

P

DOOR SWEEP
PVC-ALCRYN

oy

O,

0.390" %
—] 0.050"

©

FRAME HEAD
ALUMINUM 6063-T5

__’« 3.500" —»=|
700" | % 19 |

HEAD & SILL RAIL
ALUMINUM 6063-T5

LH— 1.672"
0.421" [ M1
—=|~— 0.045"

HINGE RAIL

L | = 1.672"

ALUMINUM 6063-T5

L

PANEL SEAL

* [=— 1.668"
— Vg

0.254" —f

PLYCO

—=|—=— 0.070

PLYCO CORPORATION
P.O. BOX 386
500 INDUSTRIAL RD.
ELKHART LAKE, W1 53020
PH: (920) 876-3611 FAX: (920) 876-3527
S a2
5 = £
4 Z whg ¢
22 Lefeat
E= 9 OZz33%
wn = o - 3 <
-2 B 2 Q3dZans
KO Pz SE323
52 =z w O 2aal
o= wk Z 2<%z
Lx =< =zzZgs
=0 o= A3dg i
DO au = u g
al 2° o8&
Eg @ )
w [a)]
[%p] w
'3 2 2
5 O a
= 2
= a

REMARKS BY | DATE

ALUMINUM 6063-T5

THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERI(]
[AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFI]}
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

STOP PART (OPTIONAL)

‘\\\‘gslé'ﬁﬁ\.—"“\-

\\\\\\\

HERMES F. NORERO, P.E.
TEXAS P.E. No 118471
BUILDING DROPS, INC

398 E. DANIA BEACH BLVD. # 338

DANIA BEACH, FL 33004

TBPE FIRM No. 13734

pate:  02.13.20

ALUMINUM 6063-T5

DWG. BY: CHK. BY:

MS HEN
NTS

—=|=— 0.045"

DWG. #:

SCALE:
PCOO037

SHEET:

9

OFSJ




		2020-07-15T07:35:52-0400
	Hermes F Norero
	I am approving this document




